



Vendor Ranking

Page 1 of 1

Letting: 03220519 May 19, 2022 02:00 pm **Call Order:** 005 **Contract:** E3V92-R0

District: District 3 Counties: Fed Aid No: N/A

Contract Time: 06/30/23 COMPLETION DATE GADSDEN, LEON Project(s): 42215127213 (*)

Contract Desc: MIDWAY OPS MAINTENANCE - THERMO MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALEXANDER DESIGN + BUILD, LLC	Responsive	Winning bid	\$118,979.60	100.00%
2	AKCA, LLC	Responsive	Non-Winning Bid	\$121,851.00	102.41%
3	EMERALD COAST STRIPING, LLC.	Responsive	Non-Winning Bid	\$151,688.50	127.49%
4	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$216,920.00	182.32%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED \$100,000.00





Tabulation of Bids

Page 1 of 21

Letting: 03220519 May 19, 2022 **Call Order:** 005 **Contract**: E3V92-R0

District: District 3 Counties: Fed Aid No: N/A

Contract Time: 06/30/23 COMPLETION DATE GADSDEN, LEON Project(s): 42215127213 (*)

Contract Descr: MIDWAY OPS MAINTENANCE - THERMO MAINTENANCE

The Improvements under this Work Document-driven Contract consists of providing rapid response removal, replacement, refurbishment, new installation of roadway traffic markings as well as painting of curb faces on State Roads in Leon and Gadsden Counties. Project limits and type of work ordered will be defined in the individual Work Documents. Other services required to achieve this work include laying out modifications to existing pavement markings. Maintenance of Traffic and Mobilization will be incidental to placement of traffic markings, except when other MOT items in the proposal are listed in the Work Document.

The overall budgetary ceiling on this contract shall not exceed \$100,000,00

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

A Proposal Guaranty will not be required on indefinite quantity contracts, such as work document driven contracts, with an advertised budget amount of \$150,000 or less regardless of the bid amount.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ALEXANDE BUILD		(2) AKC	A, LLC	٠,	ALD COAST NG, LLC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PA	VEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0102 14 TRAFFIC CONTROL OFFICER	10.000 HR	100.00000	1,000.00	100.00000	1,000.00	100.00000	1,000.00
0010 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	10.000 ED	15.00000	150.00	15.00000	150.00	10,00000	100.00
0015 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	1.000 ED	30.00000	30.00	50.00000	50.00	25.00000	25.00





Tabulation of Bids

Page 2 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No / It		ate Quantity Units	(1) ALEXANDI BUILD		(2) AKC	A, LLC		LD COAST NG, LLC.
	tem is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	RAISED RUMBLE S LUDES ALL SETS 7		150.00000	150.00	300.00000	300.00	500.00000	500.00
0025 0704 TUBULAR MAI WHITE POST	1 1 RKER, DURABLE, 3	50.000 6" EA	52.50000	2,625.00	120.00000	6,000.00	200.00000	10,000.00
0030 0704 TUBULAR MAI YELLOW POS	RKER, DURABLE, 3	10.000 6" EA	52.50000	525.00	120.00000	1,200.00	300.00000	3,000.00
PAINTED PAV	11190 EMENT MARKINGS /HITE, ISLAND NOS		2.75000	825.00	1.50000	450.00	5.00000	1,500.00
PAINTED PAV	11290 EMENT MARKINGS ELLOW, ISLAND N		2.75000	825.00	1.50000	450.00	5.00000	1,500.00
	EMENT MARKINGS NT, WHITE, SOLID,		1,350.00000	2,700.00	2,500.00000	5,000.00	1,000.00000	2,000.00
PAINTED PAV DURABLE PAI WIDE FOR INT	12102 EMENT MARKINGS NT, WHITE, SOLID, ERCHANGE AND L FENANCE USE	8"	2,400.00000	48.00	3,500.00000	70.00	1,200.00000	24.00
DURABLE PAI	12131 EMENT MARKINGS NT, WHITE, 10-30 (- MAINTENANCE U	OR 3-9	700.00000	1,400.00	800.0000	1,600.00	400.00000	800.00



Page 3 of 21

Florida Department of Transportation



Tabulation of Bids

Letting:	03220519	May 19, 2022	Cal	II Order: 005		Contract:	E3V92-R0	
	o / Item ID Alternate	Quantity Units	(1) ALEXANDI BUILD		(2) AKC.	A, LLC		ILD COAST IG, LLC.
() indicat	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
PAINTED P	710 12201 PAVEMENT MARKINGS, PAINT,YELLOW, SOLID, INTENANCE USE	2.000 GM 6"	1,400.00000	2,800.00	2,500.00000	5,000.00	1,000.00000	2,000.00
PAINTED P	710 12231 PAVEMENT MARKINGS, YELLOW, SKIP, 6"	2.000 GM	700.00000	1,400.00	800.00000	1,600.00	400.00000	800.00
THERMOPI	711 11102 LASTIC, STANDARD, WH FOR INTERCHANGE AND LAND		9,000.00000	180.00	7,000.00000	140.00	10,000.00000	200.00
THERMOPI	711 11103 LASTIC, STANDARD, WH FOR INTERCHANGE S	0.010 ITE, GM	18,000.00000	180.00	8,000.00000	80.00	15,000.00000	150.00
THERMOPI	711 11123 LASTIC, STANDARD, WH FOR CROSSWALK AND OUT	24.000 ITE, LF	15.00000	360.00	4.00000	96.00	10.00000	240.00
THERMOPI	711 11124 LASTIC, STANDARD, WH FOR DIAGONALS AND S	50.000 ITE, LF	10.00000	500.00	5.00000	250.00	10.00000	500.00
THERMOPI	711 11125 LASTIC, STANDARD, WH FOR STOP LINE AND ILK	24.000 ITE, LF	15.00000	360.00	6.00000	144.00	10.00000	240.00



Page 4 of 21

Florida Department of Transportation



Tabulation of Bids

Letting	g: 03	3220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ALEXANDI BUILD		(2) AKC	A, LLC		LD COAST NG, LLC.
	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 11141 OPLASTIC, ST TED GUIDELI SION, 6"		0.100 IITE, GM	2,500.00000	250.00	2,500.00000	250.00	5,000.00000	500.00
	0711 11160 OPLASTIC, ST GE OR SYMBO		2.000 IITE, EA	250.00000	500.00	120.00000	240.00	350.00000	700.00
0105 THERMO ARROW	0711 11170 OPLASTIC, ST	⁻ ANDARD, WH	2.000 IITE, EA	150.00000	300.00	100.00000	200.00	125.00000	250.00
0110 THERMO YIELD L	0711 11180 OPLASTIC, ST INE	TANDARD, WH	24.000 IITE, LF	35.00000	840.00	10.00000	240.00	20.00000	480.00
	0711 11224 OPLASTIC, ST V, SOLID, 18" EVRON		50.000 LF AL	10.00000	500.00	5.00000	250.00	10.00000	500.00
YELLOV	0711 11241 OPLASTIC, ST V, 2-4 DOTTEI D EXTENSION	GUIDE LINE	0.030 GM /6-10	3,000.00000	90.00	2,500.00000	75.00	5,000.00000	150.00
	0711 12101 OPLASTIC, RE SOLID, 6"	EFURBISHMEN	2.000 NT, GM	4,000.00000	8,000.00	3,500.00000	7,000.00	4,000.00000	8,000.00
	0711 12121 OPLASTIC, RE SOLID, 6" FOR			1.95000	975.00	0.75000	375.00	5.00000	2,500.00





Tabulation of Bids

Page 5 of 21

Letting:	03220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
	No / Item ID Alternat	e Quantity Units	(1) ALEXANDER DESIGN + BUILD, LLC		(2) AKCA, LLC			LD COAST IG, LLC.
	cates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMO	0711 12122 PLASTIC, REFURBISHME SOLID, 8" FOR MAINTENAI		2.75000	550.00	3.00000	600.00	6.00000	1,200.00
THERMO WHITE, S	0711 12123 PLASTIC, REFURBISHME SOLID, 12" FOR CROSS W NDABOUT- MAINTENANCI	ALK	4.75000	237.50	4.00000	200.00	8.00000	400.00
THERMO WHITE, S	0711 12124 PLASTIC, REFURBISHME BOLID, 18" FOR DIAGONAI IN, MAINTENANCE USE O	LOR	4.75000	237.50	5.00000	250.00	8.00000	400.00
THERMO WHITE, S	0711 12125 PLASTIC, REFURBISHME SOLID, 24" FOR STOP LINE /ALK, MAINTENANCE USE	E OR	5.75000	2,875.00	6.00000	3,000.00	8.00000	4,000.00
	0711 12131 PLASTIC, REFURBISHME SKIP, 6"	2.000 NT, GM	3,750.00000	7,500.00	1,500.00000	3,000.00	4,000.00000	8,000.00
THERMO WHITE, 2	0711 12141 PLASTIC, REFURBISHME 2-4 DOTTED GUIDELINE / ENSION, 6", MAINTENANG Y	⁷ 6-10	900.00000	360.00	2,000.00000	800.00	2,000.00000	800.00
	0711 12160 PLASTIC, REFURBISH, W E	10.000 HITE, EA	225.00000	2,250.00	120.00000	1,200.00	275.00000	2,750.00





Tabulation of Bids

Page 6 of 21

Letting	g : 03	3220519 Ma	ay 19, 2022	Ca	II Order: 005		Contract:	E3V92-R0	
	No / Item ID	Alternate	Quantity Units	(1) ALEXANDI BUILD		(2) AKC	A, LLC		LD COAST NG, LLC.
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (F	PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0170 THERM ARROV		EFURBISH, WHIT	20.000 ГЕ, EA	125.00000	2,500.00	100.00000	2,000.00	100.00000	2,000.00
	0711 12201 IOPLASTIC, RE W, SOLID, 6"	EFURBISHMENT	2.000 G, GM	2,500.00000	5,000.00	3,500.00000	7,000.00	4,000.00000	8,000.00
	W, SOLID, 6" N	EFURBISHMENT MAINTENANCE	500.000 , LF	1.00000	500.00	0.50000	250.00	5.00000	2,500.00
		EFURBISHMENT MAINTENANCE U		2.00000	2,000.00	1.00000	1,000.00	3.00000	3,000.00
YELLO\	W, SOLID, 18"	EFURBISHMENT FOR DIAGONAL FENANCE USE		1.50000	750.00	5.00000	2,500.00	8.00000	4,000.00
	0711 12231 IOPLASTIC, RE W, SKIP, 6"	EFURBISHMENT	2.000 GM	800.00000	1,600.00	1,500.00000	3,000.00	2,000.00000	4,000.00
YELLO\	W 2-4 DOTTED	EFURBISHMENT) GUIDELINE/ 6-' MAINT USE ONI	10	1,400.00000	280.00	2,000.00000	400.00	2,000.00000	400.00
	0711 14123 IOPLASTIC, PF SOLID, 12" F	REFORMED, OR CROSSWALI	50.000 LF K	10.00000	500.00	6.00000	300.00	17.00000	850.00



Page 7 of 21

Florida Department of Transportation



Tabulation of Bids

Letting:	03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No /		ate Quantity Units	(1) ALEXANDI BUILD		(2) AKC	A, LLC		NLD COAST
	item is bid as Lump Sur	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA	I 14125 STIC, PREFORMED, D, 24" FOR CROSS\		14.00000	1,400.00	16.00000	1,600.00	22.00000	2,200.00
THERMOPLA	I 14141 STIC, PREFORMED, OTTED GUIDELINE SURFACES		13,000.00000	13.00	15,000.00000	15.00	8,500.00000	8.50
	l 14160 STIC, PREFORMED, SAGE	10.000 , EA	750.00000	7,500.00	250.00000	2,500.00	275.00000	2,750.00
	I 14170 STIC, PREFORMED, DW	10.000 , EA	250.00000	2,500.00	150.00000	1,500.00	175.00000	1,750.00
THERMOPLA	I 14341 STIC, PREFORMED, OTTED GUIDELINE SURFACES		13,900.00000	139.00	15,000.00000	150.00	8,500.00000	85.00
THERMOPLA WHITE WITH	I 14560 STIC, PREFORMED, BLACK CONTRAST PAVEMENT, MESSAG	ON	275.00000	275.00	600.00000	600.00	850.00000	850.00
THERMOPLA WHITE WITH	I 14570 STIC, PREFORMED, BLACK CONTRAST, CONCRETE SURFAC	· •	275.00000	275.00	400.00000	400.00	650.00000	650.00
	l 14660 STIC, PREFORMED, TE SHIELD	1.000 , MULTI EA	3,500.00000	3,500.00	2,500.00000	2,500.00	3,500.00000	3,500.00



Page 8 of 21

Florida Department of Transportation



Tabulation of Bids

Letting:	03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No / Item Desc		ate Quantity Units	(1) ALEXANDE BUILD		(2) AKC	A, LLC		LD COAST IG, LLC.
() indicates	: item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA	1 15101 ASTIC, STANDARD-O PHALT SURFACES W		4,750.00000	475.00	6,000.00000	600.00	10,000.00000	1,000.00
THERMOPLA	1 15102 ASTIC, STANDARD-O PHALT SURFACES, V		4,750.00000	475.00	7,000.00000	700.00	11,000.00000	1,100.00
THERMOPLA GRADED AS	1 15131 ASTIC, STANDARD-O PHALT SURFACES, V 0 SKIP OR 3-9 LANE	WHITE,	1,900.00000	190.00	2,000.00000	200.00	3,800.00000	380.00
THERMOPLA	1 15201 ASTIC, STANDARD-O PHALT SURFACES, DLID, 6"	0.100 PEN GM	4,800.00000	480.00	6,000.00000	600.00	10,000.00000	1,000.00
THERMOPLA	1 15202 ASTIC, STANDARD-O PHALT SURFACES DLID, 8"	0.100 PEN GM	4,800.00000	480.00	7,000.00000	700.00	11,000.00000	1,100.00
THERMOPLA	1 15231 ASTIC, STANDARD-O PHALT SURFACES, IP, 6"	0.100 PEN GM	1,900.00000	190.00	2,000.00000	200.00	3,800.00000	380.00
THERMOPLA THERMOPLA	1 17 1 ASTIC, REMOVE EXIS ASTIC PAVEMENT SURFACE TO REMAI		0.45000	2,469.60	2.00000	10,976.00	2.00000	10,976.00





Tabulation of Bids

Page 9 of 21

Letting:	032	20519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
	o / Item ID escription	Alternat	e Quantity Units	(1) ALEXANDE BUILD		(2) AKC	A, LLC		LD COAST NG, LLC.
() indica	ates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: (0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOP YELLOW,	0711 18101 PLASTIC, PRE SOLID, 18" FO RETE- MAINT	OR CHEVRO		9.50000	475.00	12.00000	600.00	10.00000	500.00
PERMANE	713103101 ENT TAPE, WI CRETE BRIDG		0.100 O, 6" GM	33,500.00000	3,350.00	25,000.00000	2,500.00	38,000.00000	3,800.00
PERMANE EXIT LANE	0713103102 ENT TAPE, WH E AT INTERCH FE PAVEMEN	HANGE ON	0.100 o, 8" GM	41,000.00000	4,100.00	35,000.00000	3,500.00	35,000.00000	3,500.00
PERMANE	0713103103 ENT TAPE, WH DP MARKING, FE BRIDGES		0.100) GM	41,000.00000	4,100.00	50,000.00000	5,000.00	50,000.00000	5,000.00
PERMANE	713103131 ENT TAPE, WH TED, 6" FOR ES		0.100 GM ≣	33,500.00000	3,350.00	10,000.00000	1,000.00	20,000.00000	2,000.00
PERMANE	0713103133 ENT TAPE, WH ' DROP LANE ES			41,000.00000	4,100.00	15,000.00000	1,500.00	30,000.00000	3,000.00
PERMANE	9713103231 ENT TAPE, YE DOTTED, 6" F ES			13,500.00000	2,700.00	10,000.00000	2,000.00	20,000.00000	4,000.00





Tabulation of Bids

Page 10 of 21

Letting:	03220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
Line No / I		e Quantity Units	(1) ALEXANDE BUILD		(2) AKC	A, LLC		NLD COAST NG, LLC.
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
PERMANENT	3103331 TAPE, BLACK, D, 6" FOR CONCRETI	0.100 GM	13,500.00000	1,350.00	10,000.00000	1,000.00	15,000.00000	1,500.00
PERMANENT	3103333 TAPE, BLACK, 3'-9' D I CONCRETE SURFAC		41,000.00000	4,100.00	15,000.00000	1,500.00	25,000.00000	2,500.00
0330 0713 PREFORMED REMOVE	3107 D/PERMANENT TAPE	1,000.000 , SF	2.75000	2,750.00	4.00000	4,000.00	2.00000	2,000.00
0335 E706 REFLECTIVE MARKER(REI REPLACE)(CI	MOVE AND	4,000.000 EA	3.35000	13,400.00	4.50000	18,000.00	4.00000	16,000.00
) 17 F NON-CONFLICTING LINE STRIPE PRIOR 1	100.000 SF	1.90000	190.00	3.00000	300.00	2.00000	200.00
	VEMENT STRIPING S GE MACHINE) (LM)	Section Totals:		\$118,979 . 60		\$121,851.00 [°]		\$151,688.50
	Contract G	rand Totals:		\$118,979.60		\$121,851.00		151,688.50





Tabulation of Bids

Page 11 of 21

Letting:	03220	519 Ma	ıy 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
	o / Item ID escription	Alternate	Quantity Units	(4) ACME BAR	RICADES LC				
() indica	ates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
\$	SECTION: 000	1 (P	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	102 14 CONTROL OFFIC	CER	10.000 HR	85.00000	850.00				
	102 76 OARD / ADVANC ANEL	CE WARNING	10.000 G ED	20.00000	200.00				
	102 99 E CHANGEABLE IPORARY	MESSAGE	1.000 ED	50.00000	50.00				
TEMPORA	102909 ARY RAISED RUN INCLUDES ALL IONS		1.000 S- DA	30,00000	30.00				
	704 1 1 MARKER, DURA OST	ABLE, 36"	50.000 EA	125.00000	6,250.00				
	704 1 2 MARKER, DURA POST	ABLE, 36"	10.000 EA	125.00000	1,250.00				
PAINTED F	710 11190 PAVEMENT MAR D, WHITE, ISLAN		300.000 SF	10.00000	3,000.00				
PAINTED F	710 11290 PAVEMENT MAI D, YELLOW, ISL		300.000 SF	10.00000	3,000.00				





Tabulation of Bids

Page 12 of 21

Letting:	03	220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
Line No /		Alternat	e Quantity Units	(4) ACME BAR	RRICADES LC				
() indicate	es item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
PAINTED PA	PAINT, WH	MARKINGS, ITE, SOLID, 6		2,500.00000	5,000.00				
PAINTED PA	PAINT, WH NTERCHA	MARKINGS, ITE, SOLID, 8 INGE AND UF DE USE	"	3,000.00000	60.00				
PAINTED PA	PAINT, WH	MARKINGS, ITE, 10-30 O ENANCE US		1,000.00000	2,000.00				
PAINTED PA	PAINT,YEL	MARKINGS, LOW, SOLID, E USE	2.000 GM 6"	2,500,00000	5,000.00				
		MARKINGS, SKIP, 6"	2.000 GM	1,000.00000	2,000.00				
THERMOPL	OR INTER	ANDARD, WI		10,000.00000	200.00				
		ANDARD, WI	0.010 HITE, GM	15,000.00000	150.00				





Tabulation of Bids

Page 13 of 21

Letting:	: 03	3220519	May 19, 2022	Ca	ll Order: 005		Contract:	E3V92-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) ACME BAR	RRICADES LC				
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMO	2" FOR CRO	ΓANDARD, WH SSWALK AND	24.000 ITE, LF	20.00000	480.00				
THERMO	8" FOR DIAG	FANDARD, WH SONALS AND	50.000 ITE, LF	30.00000	1,500.00				
THERMO	4" FOR STOP	FANDARD, WH P LINE AND	24.000 ITE, LF	40.00000	960.00				
THERMO	TED GUIDÉLI	ΓANDARD, WH NE/ 6-10 GAP	0.100 ITE, GM	5,000.00000	500.00				
THERMO	0711 11160 PLASTIC, ST E OR SYMBO	ΓANDARD, WH OL	2.000 ITE, EA	500.00000	1,000.00				
	0711 11170 PPLASTIC, ST	ΓANDARD, WH	2.000 ITE, EA	250.00000	500.00				
		ΓANDARD, WH	24.000 ITE, LF	30.00000	720.00				
THERMO		FANDARD, FOR DIAGONA	50.000 LF .L	30.00000	1,500.00				





Tabulation of Bids

Page 14 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No /		te Quantity Units	(4) ACME BAR	RICADES LC				
() indicates	s item is bid as Lump Sum	,	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA YELLOW, 2-4	1 11241 ASTIC, STANDARD, 4 DOTTED GUIDE LINI TENSION LINE, 6"	0.030 GM E /6-10	5,000.00000	150.00				
	1 12101 ASTIC, REFURBISHME ID, 6"	2.000 ENT, GM	3,500.00000	7,000.00				
THERMOPLA	1 12121 ASTIC, REFURBISHME ID, 6" FOR MAINTENA		1.00000	500.00				
THERMOPLA	1 12122 ASTIC, REFURBISHME ID, 8" FOR MAINTENA		2.00000	400.00				
THERMOPLA WHITE, SOLI	1 12123 ASTIC, REFURBISHME ID, 12" FOR CROSS W ABOUT- MAINTENANC	/ALK	20.00000	1,000.00				
THERMOPLA WHITE, SOL	1 12124 ASTIC, REFURBISHME ID, 18" FOR DIAGONA MAINTENANCE USE C	LOR	25.00000	1,250.00				
THERMOPLA WHITE, SOLI	1 12125 ASTIC, REFURBISHME ID, 24" FOR STOP LIN K, MAINTENANCE US	E OR	30.00000	15,000.00				





Tabulation of Bids

Page 15 of 21

Letting:	03220519	Мау	/ 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No / I		rnate	Quantity Units	(4) ACME BAR	RICADES LC				
() indicates	item is bid as Lump	Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(PA	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	I 12131 STIC, REFURBIS , 6"	HMENT,	2.000 GM	2,200.00000	4,400.00				
THERMOPLA WHITE, 2-4 D	I 12141 STIC, REFURBIS OTTED GUIDEL SION, 6", MAINTEI	INE / 6-10	0.400 GM	5,000.00000	2,000.00				
	I 12160 STIC, REFURBIS	⊣, WHITE	10.000 E, EA	400.00000	4,000.00				
	I 12170 STIC, REFURBIS	H, WHITE	20.000 E, EA	200.00000	4,000.00				
	l 12201 STIC, REFURBIS LID, 6"	HMENT,	2.000 GM	3,500.00000	7,000.00				
THERMOPLA	I 12221 STIC, REFURBIS LID, 6" MAINTEN		500.000 LF	1,00000	500.00				
THERMOPLA	I 12222 STIC, REFURBIS LID, 8" MAINTEN		1,000.000 LF E	2.00000	2,000.00				





Tabulation of Bids

Page 16 of 21

Letting:	: 03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
	No / Item ID Alterna	ate Quantity Units	(4) ACME BAR	RICADES LC				
() indic	cates item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMO YELLOW,	0711 12224 PLASTIC, REFURBISHM , SOLID, 18" FOR DIAGO /RON, MAINTENANCE U	NAL	25.00000	12,500.00				
0195 (0711 12231 PLASTIC, REFURBISHM , SKIP, 6"	2.000 ENT, GM	2,200.00000	4,400.00				
THERMO YELLOW	0711 12241 PLASTIC, REFURBISHM 2-4 DOTTED GUIDELINE ENSION, 6" MAINT USE	E/ 6 -1 0	5,000.00000	1,000.00				
THERMO	0711 14123 PLASTIC, PREFORMED, SOLID, 12" FOR CROSSV		20.00000	1,000.00				
THERMO	0711 14125 PLASTIC, PREFORMED, SOLID, 24" FOR CROSSV		35.00000	3,500.00				
THERMO WHITE, 2	0711 14141 PLASTIC, PREFORMED, I-4 DOTTED GUIDELINE ITE SURFACES		50,000.00000	50.00				
THERMO	0711 14160 PLASTIC, PREFORMED, MESSAGE	10.000 EA	1,500.00000	15,000.00				
	0711 14170 PLASTIC, PREFORMED, ARROW	10.000 EA	800.00000	8,000.00				





Tabulation of Bids

Page 17 of 21

Letting:	03220519	May 19, 2022	Cal	l Order: 005		Contract:	E3V92-R0	
Line No / I Item Desc		nte Quantity Units	(4) ACME BAR	RICADES LC				
() indicates	item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA	14341 STIC, PREFORMED, OTTED GUIDELINE SURFACES	0.010 GM ON	50,000.00000	500.00				
THERMOPLA WHITE WITH	14560 STIC, PREFORMED, BLACK CONTRAST PAVEMENT, MESSAG		1,800.00000	1,800.00				
THERMOPLA WHITE WITH	14570 STIC, PREFORMED, BLACK CONTRAST, CONCRETE SURFAC	1.000 EA	1,000.00000	1,000.00				
	14660 STIC, PREFORMED, 'E SHIELD	1.000 MULTI EA	4,000,00000	4,000.00				
THERMOPLA	15101 STIC, STANDARD-O PHALT SURFACES V		8,000.00000	800.00				
THERMOPLA	15102 STIC, STANDARD-O PHALT SURFACES, V		10,000.00000	1,000.00				
THERMOPLA GRADED ASF	15131 STIC, STANDARD-O PHALT SURFACES, V O SKIP OR 3-9 LANE	VHITE,	4,000.00000	400.00				





Tabulation of Bids

Page 18 of 21

Letting:	03220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
Line No /		ate Quantity Units	(4) ACME BAR	RRICADES LC				
() indicate.	s item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLA	1 15201 ASTIC, STANDARD-C PHALT SURFACES, DLID, 6"	0.100 DPEN GM	8,000.00000	800.00				
THERMOPLA	1 15202 ASTIC, STANDARD-C PHALT SURFACES DLID, 8"	0.100 DPEN GM	5,000.00000	500.00				
THERMOPLA	1 15231 ASTIC, STANDARD-C PHALT SURFACES, KIP, 6"	0.100 DPEN GM	4,000.00000	400.00				
THERMOPLA THERMOPLA	1 17 1 ASTIC, REMOVE EXI ASTIC PAVEMENT SURFACE TO REMA		2.50000	13,720.00				
THERMOPLA YELLOW, SO	1 18101 ASTIC, PREFORMED DLID, 18" FOR CHEVI ETE- MAINTENANCE	RONS	30.00000	1,500.00				
PERMANEN'	3103101 T TAPE, WHITE, SOL RETE BRIDGES	0.100 .ID, 6" GM	40,000.00000	4,000.00				
PERMANEN [®]	3103102 T TAPE, WHITE, SOL AT INTERCHANGE O PAVEMENT		45,000.00000	4,500.00				





Tabulation of Bids

Page 19 of 21

Letting:	03220519	May 19, 2022	Cal	ll Order: 005		Contract:	E3V92-R0	
	o / Item ID Alternat	e Quantity Units	(4) ACME BAR	RRICADES LC				
() indica	ites item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
8	SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
PERMANE LANE DRO	713103103 :NT TAPE, WHITE, SOLID DP MARKING, 12" FOR 'E BRIDGES	0.100 GM	60,000.00000	6,000.00				
PERMANE	713103131 :NT TAPE, WHITE, TED, 6" FOR CONCRETE S	0.100 GM	15,000.00000	1,500.00				
PERMANE	713103133 :NT TAPE, WHITE, SKIP, DROP LANE ON CONCR S		30,000.00000	3,000.00				
PERMANE	713103231 ENT TAPE, YELLOW, 10-3 DOTTED, 6" FOR CONCR S		15,000.00000	3,000.00				
PERMANE	713103331 :NT TAPE, BLACK, TED, 6" FOR CONCRETE S	0.100 GM	15,000.00000	1,500.00				
PERMANE	713103333 :NT TAPE, BLACK, 3'-9' D ON CONCRETE SURFAC		30,000.00000	3,000.00				
	713107 IED/PERMANENT TAPE,	1,000.000 SF	5.00000	5,000.00				
REFLECTI MARKER(F	706 1 42 VE PAVEMENT REMOVE AND ((CLASS B)	4,000.000 EA	7.00000	28,000.00				





Tabulation of Bids

Page 20 of 21

Lettin	g: 03220519	May 19, 2022	Са	III Order: 005		Contract:	E3V92-R0	
	e No / Item ID Alterna	ite Quantity Units	(4) ACME BAI	RRICADES LC				
() in	dicates item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM							
	E710 17 /AL OF NON-CONFLICTING LONGLINE STRIPE PRIOR BISH		1.50000	150.00				
00	01 PAVEMENT STRIPING (LARGE MACHINE) (LM)	Section Totals:		\$216,920.00 [°]				
	Contract (Grand Totals:		\$216,920.00				



06/07/2022

Tabulation of Bids

Page 21 of 21

Letting: 03220519 May 19, 2022 **Call Order:** 005 **Contract**: E3V92-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.